
Problem Set 8
Due: Friday, March 16

Problem 1. Write out a careful proof in your own words of the proposition stated in class:∏
i, j

(1 + xiyj) = exp

∑
n≥1

1

n
(−1)n−1pn(x)pn(y)

 =
∑
λ

z−1λ ελpλ(x)pλ(y).

Problem 2. Determine (with proof) the number of standard Young tableaux of size n and at most
2 rows. For example, for n = 4, there are 6 such SYT.

Problem 3. Express hn in terms of the basis {eλ : λ ` n} of ΛnQ. Express en in terms of the basis

{hλ : λ ` n} of ΛnQ.

Problem 4. Prove that

hk(x1, . . . , xn, 0, . . .) =
n∑
j=1

xn−1+kj

∏
i∈[n], i 6=j

(xj − xi)−1.

Problem 5. Prove that if λ, µ ` n and µ ≤ λ (dominance order), then Kλµ 6= 0.
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